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QUESTION 1

Which of the following comments would be the MOST important one you would make? [K3] 2 credits
A. Descripton of fow is not detailed enough

B. Specifc characteristcs of actor(s) are missing

C. No usability acceptance criteria

D. User tasks not defned

Correct Answer: B

QUESTION 2

Working together with the test manager during test planning, which of the following actvites is NOT expected to be
performed by the test analyst? [K2] 1 credit

A. Review the test estmates of the test manager
B. Review the test plan for non-functonal testng
C. Organize adequate test resources

D. Being involved in risk management sessions

Correct Answer: C

QUESTION 3

A new web site must operate correctly with diferent browsers (Internet Explorer, Google

Chrome, Firefox, Netscape, Mozilla), using diferent plug-ins (Realplayer, Mediaplayer), will be receiving pages from
diferent servers (IIS, Apache and WebLogic) and will be running on various server operaton systems (windows 2007,
XP, Linux) Which of the following test techniques will you use to test this new web site in its various environments? [K4]
3 credits

A. pairwise testng

B. exploratory testng

C. use case testng

D. decision table testng

Correct Answer: A

QUESTION 4
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You are testng an ATM based on the following use case; ATM start screen is showing
1.

The user inserts card

2.

The user types in PIN

3.

The user selects “cash with receipt\\

4,

The user selects 50

5.

The user selects "no further service\\' Expected results

The ATM provides 50 to the user

The ATM return the card and balance slip

The ATM clears the screen

The ATM returns to start menu In your test log which of the following could be noted as part of additonal atenton points?
[K3] 2 credits

A

Issues regarding tme-behavior

B.

Issues regarding interoperability

C.

More test cases needed to achieve full coverage
D.

Expected results not clearly defned

Correct Answer: A
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QUESTION 5

The use case will be used as a basis for the design of usability test scenario\\'s. As a tester you are asked to review the
ATM use case from the perspectve of usability testng. As a tester you are asked to review the ATM use case provided
below. The use case will be used as a basis for functonality testng to be performed later.

System: X¥Z Bark ATM

Goal of test The goal of this use case is to test the withdrawal of cash
from the AT

Description Context: This is core functionality, so this is an important
test of a frequent usage function

Actors: Any user may use this function

Preconditions | The ATMis on and functional

The user has a current debit card

Description of | ATM start screen is showing
use case flow
the user inserts card

the user types in PIN

the user selects "cash with receipt”

the user selects £50

&.  the user selects "no further service”

Expected results | The ATM returns the card, delivers £50 and a receipt,

clears the screen and displays the start screen

e

Failure 0On screen instructions not clearly displayed

conditions On screen instructions not simple to follow

Card not returned (see functional tests)

Additional Note response times
attention points

Which one of the comments, described hereafer, would be the MOST important one you would make? [K3] 2 credits
A. Acceptance criteria not defned

B. Business priority is missing

C. Post conditon not defned

D. Alternatve fows are missing

Correct Answer: D
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